#&:  SOLUTION B9 FEEL—ARIMEACEL
Eagk. Quiz 4 Z:t HEE: 2025/03/19

L BIENER. 2 FAMMAFE  HHER - RIER

1. Find the projection of [-1, -2, 1] on the subspace W = sp(][1,2, 3], [1,1,0]) in R?

Answer:
—4
1. the projection = 19 [—3,3,—1] 2. the orthogonal complement of the subspace W+ =
SP([_B, 37 _]-D

Solution :

Similar with 111-2, quiz 4.
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2. Let W is a subspace of R”, then prove or disprove that the set of all vectors in R™ orthogonal
to every vector in W is a subspace of R"

Solution :

It is True!! 6-1 #23(c) and Theorem 6.1 (1)
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